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. Two It hthouses, A and B are 99.8% Km apart.
":rorn hahtheuse F\ the ccmpc:csg he:ud.n -{E’Q
a‘\i‘T‘DuSE B is S'TEE, The Keeper in :cu:’h
thouse sees the same Ship- The headin N
he ship from lighthouse A (s NH6°E,
-_TT“\E heading of Hhe Ship from lighthouse. B
1s N5I°"W."How far, to the nearest tenth
of a Kilometer, 15+h€ Ship fromeach ik3h+mL5Q3

180 10-46"= 562§
71 2,6" 5 11“:3\2:{:&?

180 62— 24°={971 5

Distance from Ship to Dristance from S‘i‘:ﬁ.p :"r‘o ’

Nahthouse A=>"x" Nighthouse B=>"y
X o= 22.8 M= 2228
SIin2\®  8inQ7° SinG2 Sin9QTe
U SNGTF = DIBSInD)° 4Sin-g7° = DIESinG2?
SiPg e Sinq7e ST Singq7°

®= B2LKm Y = 0.3 Km



2. (alculate the height,h, ¥o the nearest
Tenth of a meter

<ACD=180>90%-39°

B

To fAind "h") we nNeed to find
+he le_n6+‘n of AC first e

_L: _E-S-w-
Sin3q° sSyndSle
A S5 = @8 ¢ Sin39°

.c:CBA 130°-Q0™-58°

h = 2.6
Sin 8%° SINS2>
bhsin®2e= §2.6s5in3%8°
Srera)’ SN 327°
h = 392 m




3. An 8.2m tall telephone pole stands on level
round and leans 8.2.° From the vertical.
hen the pole’s Shadow 1S ITm lon JWhQ+
iIsStne distance , d, from the top of the
pole to the +ip of +he shadow , To +he
nearest tenth of a meter?

E
<CDE =90°+3.27

82m

d?=c*+e?*-2ce cos D

d? = (3.2)*+ (1> 2(R.2)(7) cos93.2°
CT7m D d?=¢7.24+49-114.8(-0.0558%)
d*= 116.24 + 6.4058

d2= 122.645%

d = y122.645 %

d= 1l.\m

T+ s |1.1m SFrom the Yop ofthe pole To +he
+ip of +he shadow.

o



4 Jasleen leaves hec campsite at C and hiXes

4 K

+he campsite 0

in a ST10°E, direction Yo A.She
Hhen Turns and hikes 3 ¥m in a N25S°F,
directrion o B. How far is Jasleen from

ound vouyr answer +o

+he nNearest +enth of~a \‘Q‘LOF\‘\E‘.‘\‘CT-
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1257/ 3km
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< CAN ="70° (a\rernate interior)

al=b+c™=2bc cos A
=)+ (D= 2M1)R@)cosas
A= 16+9- IN(-0.0872)

Q*= 254 2,.092°8
= 271.0928
Q= NJIT.099%

Qa

i

5.2Km



S. From the top of 0 95 m bu\'\dxh , The Qnﬁ

of depression o one parked c:c:u-xa &3
and the angle of depression to another
pmr‘ﬁe_d car”i's §2° The cars are parked
In The same line of S\Sh-\-

The distance between the two cars, to the neavest
tenth of a meter is 2

J&* Js2e T dan £3°=95 +and2'=J5,
X Jf
Ataned*=95 %@&5%"__«-4 SN}

- Taeed tane3® lens2°tans’
. x ¢s 2 G x=127m y=193m
' i

<BCA=(63° “The distance berween the cars

< BC,A=582’ 152 19.85m-19.Tm

= ¢.8m



6. The dm&rqm Shows the measutements
oberta “Mmade +o determine +he hei (319"

, OF a sKyscraper, using a baseling AB.

o

a) The first thin ﬂ?b&rh} needed
o ¥now, based on her measurements
was the measure of <ACB |

< ACB= |80°-£1°-53"
S

B) %ber"n:x Hhen used this Q“\E]'“E
measure To determime Hhe Lenﬂﬁ‘h
of AC from one end of her
baseline 4o the foot of Hhe
bui 1diﬁ8 . '

X = 124
SiNS3° SINe0°
X Sinel’ = 194 Sin53°
SinEe®  Sin6Oo° c) Finally, Reberta wasable +o
= 114.35lm determine the height of the
SKyscraper, Lsing +he angle.
of elevation She had measured.

Tan 58°=_h
114.35]

4. 351 +an=8’= h

183m =h
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